
Question    
1. a. Who was the wife of 

Justinian? 
Theodora 1 

 b. Which city was the capital of 
Justinian's empire? 

Constantinople 1 

 C. Give two places that 
Justinian re-conquered for 
the Empire. 

Italy, Rome, Carthage,  Spain, Libya, 
Morocco, Dalmatia 

2 

2. a.  Which event led to Augustus 
becoming the first emperor? 

A civil War (Battle of Actium) 1 

 b. Augustus put a lot of effort 
into showing how great he 
was. Explain how this statue 
shows his 
power and authority. 

Award one mark for a point, and another 
mark for some explanation of that point. 
Possible points that may be made: 
 

 He is wearing a toga – shows 
political power. 

 He’s wearing armour – shows 
military power. 

 He has gods on his breastplate – 
shows religious power. 

 He is shown with Cupid – links to 
Venus. 

 He is taking back the lost 
standards – shows military power. 

 He is modelled on the perfect 
man – shows good looks! 

 
Any other relevant points can get marks 
too.  

4 

3.  a. At what event did Nero win 
this chariot race? 

The Olympics  1 

 b. Give four reasons why Nero 
is known as an evil emperor. 

Award one mark for a point. 
 

 Killed his mum. 
 Murdered a lot of people. 
 Persecuted Christians. 
 Killed his wife. 
 Made a slave pretend to be his 

wife. 
 Was an actor (shameful at the 

time). 
 Killed St. Peter. 
 Cheated at the Olympics. 
 Credit one mark for stating that 

he may not have been as evil as 
they say. 

 
Award marks for any other relevant 
points.  

4 



 

Level 1 Describes some reasons for OR against the statement. 
 
Low quality of English – SpaG (Spelling, punctuation and grammar) 

1-3 

Level 2 Explains some reasons for OR against the statement. 
 
OR 
 
Describes some reasons from both sides of the statement. 
 
Comes to a basic conclusion as to whether the statement is true or 
not but this may not be explained.  
 
Good SPaG – some mistakes but not many.  

4-7 

Level 3 Complex explanations of arguments BOTH for and against the 
statement. 
 
Comes to a clear, reasoned conclusion. 
 
Excellent SPaG with very few errors.  

8-10 

When you have found a mark out of 24, use this grid to show what grade you have achieved: 

Marks Grade 
10 or less 2 

11-14 3 
15 4c 
16 4a 
17 5c 
18 5b 
19 5a 
20 6c 
21 6b 
22 6a 
23 7c 
24 7b 

 

4  ‘Augustus was the best 
Roman Emperor.’ Do you 
agree? 
Explain your answer. Aim to 
talk about both ways in which 
Augustus was the best, and 
ways in 
which other emperors were 
better. Be sure to come to a 
definite conclusion one way or 
the  
other. 

For this question, use the following best 
fit from the table below. 
 
 

 


